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Fup =98.1N Ans.
8 =15.0° Ans,
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Note that when § = 90°, the springs are unstretched and the tension in the cord is zero. When the
springs are stretched 300 mm = 0.3 m, then 8

d=(2—2(03)=14m 1 0.7m

p < y
S ¢ by I .
0 =sinT — =444
1 107.1N
From Eq. (1), 44 .,4°
m(9.81) x
T=107.1 N B 44.40
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W=201b
25, 6.\ _ . :
Faq = Fpq (551 + i) = 0.385Fpgi +0.923F gy
1. . :
_ =3, 4 ;
Fgc = Fye (—5-' i +?k) =—0.6F,ci+ 0.8F,ck
=—20 k
ZF, =0;
ZF, =0;
ZF,=0;
Fgq =11.51b, F4c =25.01b, Fp, =15.01b Ans,
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Solution

P = {1471.5k} N

P=150(9.81)=1471.5N

FB={%FBi—%FBj—§F3k}N 5 Fo omp
Fo= {— %Fci - 14—4ch - EFCR}N

F, ={{Z4Fpi + %ij— EFDk}N

ZF, =0;

EF), =0;

IF, =0;

Fp=858N, Fp=0, F, =858 N
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R
F = 45°
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ZF,=0;
EF), =0;
IF, =0;
P=1,0001b, R=4241b, F=5661b Ans.
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F, =350(1 —0.2) = 280 Ib
F, = {—280j}Ib
W = {—500k}Ib -
—2. 4. 4
w Pl =ty s s
FB 3( 3 1 6] 6 k)
=—0.333 Fgi —0.667 F j + 0.667 Fg k
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Fo=F.—i+ =k
c c( 5 . 5 )
=—0.8 Fqi + 0.6 Fok
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IF, =0;
ZF, =0;
F, = 0;
Solving,
Fg =861, Fo=1751b, Fp =506 Ib Ans,
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Solution

Solving,

R =—Rk
F,= {—600k} N
F,= {400j} N

i =P(—li — 3j +3k)
V19

P =—0.229 Pi—0.688 Pj + 0.688 Pk
c0s260° + cos245° + cos?y = 1
use ¥ = 60° since v < 180°
F = F co0s60°% + F cos45°j + F cos60°k
F = 0.5 Fi + 0.707 Fj + 0.5 Fk
ZF, =0;

ZF), =0

ZF, =0;

P=1.10kN, F=503 N, R=407TN
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